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P e SR
F E 5 B O#E 5 B gl Rk
L S FI064£03 H 23 H ETEREL 71 b (Biir)
ih A PE = Weoe | %K Sy e il e g1
FENS S 10. 00| FH*f 479 4,790 2,700 2,368 1, 620
H X £ IH 15. 00| FAXf 668 10,020 4,104 2,739 11
X H D IS 12. 00| FH%f 365 4, 380 1,620 1,076 648
1F 9 A w5 4. 00| FHx} 58 232] 1,836 1,791 1,512
H 5 B 3. 00| fHx} 254 762 1,404 1,113 972
7 A o 1. 00| FH%f 240 240 648 522 270
& I 5.00( #8%F| 4l 70| 2,700] 2,314] 2,160
= w5 4. 00| FH*} 12 48| 1,728 1,638] 1,296
AN w5 2. 00| FHx*} 129 258 1,188| 1,039 756
LE L ™ 5 4. 00| FH*} 166 664| 1,728 1,432| 1,188
B IR w5 5. 00| fHxt 503 2,515| 1,836| 1,592 1,080
7 k= b = ) 3. 00| fHx} 47 141 2,160 2,031 1,728
SR FOk L 2. 00| FHxf 39 78| 3,240 2,575 1,188
H 7% w5 5. 00| fHxt 140 700 1,728 1,666| 1,512
A—0 4 AbifEE 10. 00| FH%f 20 200 1,134
£ A AbifEE 20. 00| FHx} 298 5,960 2,592 2,290 2,160
& | 10.00| AEXF| 205 2,950| 3,780 2,226 1,188
LA A It fE 10. 00| FH%f 569 5,690 3,996 2,646 1,512
=1L & X & 4. 00| FH*} 661 2, 644 1,836 1,481 1, 080
Tnoyal)— m B 6. 00 | FHx} 160 960| 5,400| 4,141| 1,944
& )l | 600 kAXF| 8] 8] | 3,672
AEHEE w5 0. 10| #Hxf | 3,000 300 173 111 65
ZDXH B g 0. 20| FHx} 1, 200 240 62 58 49
LU 5 W 0. 20| FHx} 150 30 65
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P e SR
F E 5 B O#E 5 B gl Rk
R3HE A FN064E03 H 23 H BRI 14 v (Biir)
ih A PE = Weoe | % Sy EfE e g1

5 U 5 10. 00| AHxf 34 340 3,024

INF T 7 4 UE | 13.00| fHx%F 102 1,326 4,249| 3,842| 2,916

T AH I E— = B 0. 25| tHx} 140 35 389 347 248

bEBI I 0.27| #Hxf | 2,240 605 486 460 324

S = 0. 25| FH*} 5, 300 1,331 486 426 270

MIHD Y £ I 0.25| FHxf | 2,936 739 400 344 184




